RICHLAND PARISH	PLANT ENTERPRISES PRODUCTION

	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
COTTON						
Lint - Irrigated (Total)		32,343.0	850.00	27,491,550	lbs.	\$12,371,198
Lint - Non-irrigated (Total)		13,861.0	560.00	7,762,160	lbs.	\$3,492,972
Cotton (Total)	90	46,204.0				\$15,864,170
FORESTRY						
Pulpwood						
Pine				2,378	cords	
Hardwood				13,454	cords	
Pulpwood (Total)				15,832		
Saw Timber						
Pine				*	board feet	
Hardwood				1,478,231	board feet	
Saw Timber (Total)				1,515,094		
Total Pulpwood, Chip & Saw,						\$1,816,762
Saw Timber FOB Mill						
Total Forestry Stumpage						\$769,124
(Total)						
Christmas Trees (Total)	*				trees	\$30,000
Forestry Seedlings (Total)	*	70.0	150,000.00	10,500,000	seedlings (1,000)	\$367,500
Forestry (Total)		70.0				\$2,214,262
FRUITS						
Peaches (Total)	*	8.0	200.00	1,600	bu.	\$64,000
Fruits (Total)		8.0				\$64,000
FEED GRAINS						
Corn (Total)	80	23,268.0	125.00	2,908,500	bu.	\$6,369,615
Grain Sorghum (Total)	12	1,889.0	65.00	122,785	cwt.	\$439,570
Oats (Total)	8	1,092.0	70.00	76,440	bu.	\$142,943
Feed Grains (Total)		26,249.0				\$6,952,128
Home Gardens (Total) NURSERY CROPS	4,000	,				\$1,040,000

RICHLAND PARISH

## RICHLAND PARISH

## PLANT ENTERPRISES PRODUCTION

RICHLAND FARISH PLANT ENTERPRISES PRODUCTION							
	Number of		Yield per	Total	Units of	Gross Farm	
Crop	Producers	Acres	Acre	Production	Measure	Value	
NURSERY CROPS							
Floraculture & Bedding	*				acre	\$50,000	
Plants (Total)							
Woody Ornamentals (Total)	*				acre	\$40,000	
Foliage Plants (Total)	*				acre	\$10,000	
Nursery Crops (Total)						\$100,000	
Peanuts (Total)	*	50.0	2,500.00	125,000	lbs.	\$22,625	
PECANS							
Improved (Total)	6	100.0	450.00	45,000	lbs.	\$58,500	
Pecans (Total)		100.0				\$58,500	
Rice (Total)	25	5,921.0	65.25	386,345	cwt.	\$2,723,732	
Soybeans (Total)	230	45,557.0	30.00	1,366,710	bu.	\$8,077,256	
VEGETABLES							
Cantaloupe (Total)	*	5.0	200.00	1,000	cartons (40	\$18,000	
					lbs.)		
Cucumber							
Fresh	*	1.0	250.00	250	bu. (50 lbs.)	\$4,500	
Cucumber (Total)		1.0				\$4,500	
Lima Beans							
Fresh	*	20.0	165.00	3,300	bu. (32 lbs.)	\$115,500	
Lima Beans (Total)		20.0				\$115,500	
Mustard (Fresh) (Total)	*	1.0	500.00	500	doz. bunches	\$3,500	
Okra (Fresh) (Total)	*	42.0	200.00	8,400	bu.	\$252,000	
Pumpkin (Fresh) (Total)	*	1.0	80.00	80	cwt.	\$2,000	
Southern Peas (Fresh) (Total)	*	130.0	125.00	16,250	bu. (24 lbs.)	\$406,250	
Sweet Corn (Fresh) (Total)	6	20.0	675.00	13,500	doz. ears	\$47,250	
Tomatoes (Field) (Total)	*	1.5	1,600.00	2,400	lugs (20 lbs.)	\$48,000	
Watermelon (Total)	*	40.0	225.00	9,000	cwt.	\$72,000	
Vegetables (Total)		261.5				\$969,000	
Wheat (Total)	75	10,655.0	45.00	479,475	bu.	\$1,572,678	
TOTAL ALL PLANT ENTERPRIS	ES					\$39,658,351	

RICHLAND PARISH	FISHERIES & W	ILDLIFE ENTE	RPRISES PROD	UCTION		
	Number of	Units of		Total	Units of	Gross Farm
Fisheries	Producers	Production		Production	Measure	Value
AQUACULTURE						
Minnows (Total)	*	440	Acres in Prod.	220,000	lbs.	\$660,000
Aquaculture (Total)						\$660,000
Fur Animals (Total)				265	pelts	\$2,571
Alligators (Wild) (Total)				82	ft.	\$2,475
HUNTING LEASES						
Waterfowl (Total)	15	18,000	No. Acres		acre	\$900,000
			Leased			
All Other Game (Total)	*	10,000	No. Acres		acre	\$70,000
			Leased			
Hunting Leases (Total)						\$970,000
Honey (Total)	12	60	No. Hives	6,400	lbs.	\$3,776
TOTAL ALL FISHERIES & V	WILDLIFE ENTERPRISES					\$1,638,822
	ANIMA	L ENTERPRISES	S PRODUCTION	N		
	Number of	Units of		Total	Units of	Gross Farm
Animal	Producers	Production		Production	Measure	Value
CATTLE & CALVES						
Steer Calves						
300-400 lbs.				983	head	\$524,023
400-500 lbs.				1,412	head	\$854,422
500-600 lbs.				836	head	\$549,323
600-700 lbs.				367	head	\$270,420
Steer Calves (Total)						\$2,198,188
Heifer Calves						
300-400 lbs.				1,266	head	\$592,203
400-500 lbs.				1,711	head	\$936,028
500-600 lbs.				595	head	\$368,680
600-700 lbs.				28	head	\$19,536
Heifer Calves (Total)						\$1,916,447
Yearling Cattle						
600-700 lbs.				223	head	\$1,377
700-800 lbs.				949	head	\$6,335
RICHLAND PARISH						

## RICHLAND PARISH ANIMAL ENTERPRISES PRODUCTION

	Number of	Units of	Total	Units of	Gross Farm
Animal	Producers	Production	Production	Measure	Value
CATTLE & CALVES					
Yearling Cattle (Total)					\$7,712
Cow-Calf Pairs (Total)			136	pair	\$133,162
Cull Cows (Total)			771	head	\$305,590
Cull Bulls (Total)			30	head	\$27,842
Cattle & Calves (Total)	280	9,300 No. Cows			\$4,588,940
HORSES					
Show Horses (Total)	50		150	head	\$750,000
Recreation Horses (Total)	300		600	head	\$900,000
Horses (Total)					\$1,650,000
GOATS					
Slaughter Goats (Total)			600	head	\$65,100
Stocker Goats (Total)			200	head	\$17,300
Cull Goats (Total)			60	head	\$3,600
Goats (Total)	35	600 No. Does			\$86,000
TOTAL ALL ANIMAL ENTER	RPRISES				\$6,324,940

RICHLAND PARISH \$47,622,112